Pachikuri {5/ by H.E

BGT="11-09 (01:11:13 PM)", HID = [8], HEBB=[2,2,1, 2]

X=2sin(74t) cos(74 t) +2 cos(74 t)zsin(74 t) sin(%)

Y=2 cos(74 1) + 2 cos(74 1)° sin(%)

t=0.2 T, st= 1—10 ] HEF I
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BGT="11-09 (01:11:13 PM)", HIA=[9], HEBB=1[2,2,1,3]

X=2sin(74¢t) +2sin(74 t) cos(111 #) sin(%)

Y=2cos(74¢t) +2cos(74¢) cos(111 ¢) sin(%)

(=0.2m st= 1—10 ] HEF I



(=0.2m st= 1—10 ] HEF I



Pachikuri &7 4E by H.E
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BGT="11-09 (01:11:14 PM)", HIC=[11], HEBB=[2,2,1

3]

)

Y=2cos(74¢t) cos(111¢) +2 cos(74¢) cos(111 ¢) sin( 1 )

“

‘ No)

X=2sin(74¢t) cos(111¢) +2sin(74¢) cos(111 ¢) sin( 1
t

O =—

(=0.2m st= 1—10 , BE 7 It



Pachikuri {5/ by H.E
=

BGT="11-09 (01:11:14 PM)", HID=[12], HEBB=[2,2,1, 3]
X=2sin(74 1) cos(lllt)+2cos(111t)zsin(74t sin 2)

~

) sin |
Y=2cos(74 ¢) cos(111¢) +2cos(111 t)zcos(74 t) sm(%)

(=0.2m st= 1—10 , BE 7 It



(=0.2m st= 1—10 ] HEF I



TE by H.E
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Pachikuri Z754E by H.E

Y=2cos(74 t) cos(148 ¢) +2 cos(74 t) cos(148 ¢) sin(— )

(=0.2m st= 1—10 , BE 7 It



Pachikuri /'? (??W t by HE

BGT="11-09 (01:11:15 PM)", HID = [16] HEBB=[2,2,1,4
9t
)
9t

)

2,
X=2sin(74t) cos(148 ¢t) + 2 cos(148 1) sm (74 1) sm(
Y=2cos(74t) cos(148 t) +2 cos(148 ¢) cos (74 1) sm(

1=0.2m st=—— |, #FFH|H*












BGT="11-09 (01:11:17 PM)", HID = [20], HEBB=[2

of
(

) )
Y=2cos(74t) cos(185¢) +2 cos(185 t)2 cos(74 t) sin

,» 1, 5]
9t

)
t
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X=2sin(74t) cos(185¢) +2 cos(185¢ 2sin(74t

O =—

(=0.2m st= 1—10 , BE 7 It









Pachikuri Z754E by H.E

Y=2cos(74 t) cos(222 t) + 2 cos(74 t) cos(222 ¢) sin

(=0.2m st= 1—10 , BE 7 It



Pachikuri {5 /E by H.E

Y=2cos(74 t) cos(222 t) + 2 cos(222 t)2 cos(74 t) sin

(=0.2m st= 1—10 , BE 7 It
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Pachikuri /£ by H.E

Y=2cos(74t) +2 cos(259 t)2 cos(74 t) sin(

(=0.2m st= 1—10 ] HEF I



Pachikuri Z754E by H.E

Y=2cos(74 t) cos(259 t) + 2 cos(74 t) cos(259 ¢) sin

(=0.2m st= % , BE 7 It



Pachikuri {5 /E by H.E
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Y=2cos(74 t) cos(259 ¢) + 2 cos(259 t)2 cos(74 t) sin

t=0.2 T, st= 1—10 , W7



Pachikuri {%4E by H.E

BGT="11-09 (01:11:20 PM)", HIA=[29], HEBB=[2,

)
|

, 1, 8]
X=2sin(74¢t) +2sin(74 t) cos(296 t) sin( !

Y=2cos(74¢t) +2 cos(74 t) cos(296 ¢) sin(

(=0.2m st= 1—10 ] HEF I



